!, . Each box of taffy weighs 2 1/2 pounds. How much would 5 3/4 boxes of taffy weigh?

a. 14 3/8
b. 10 3/8
c. 3 1/2

d. 14 3/4

. There are 10 cups of oatmeal in the box of Quaker Oatmeal. If each serving is 1/3 of
a cup, how many servings are in the box?

a. 3
b. 30
c. 300
d. 10

3. Leah is dog sitting 9 dogs. Of the 9 dogs, 2/3 of them were brown. How many of the
dogs were brown?

.6
L2712
2
3

Qoo

‘/, . Judith used 11/14 of her tank of gas to drive 12 miles yesterday. How much gas did
she use to drive one mile?

a. 121/14
b. 12

c. 14 11/12
d. 11/168

§ Stephanie has 150 stamps in her collection. So far she has had 6/9 of them
laminated. How many stamps are laminated?

. 100
. 50
.5

.10

QOUTD

(p - . DJ has 7/8 piece of wood. He uses this wood to make 2 shelves. How much wood is
used for each shelf?

a. 14/8
b. 8/14
c. 7/16
d. 16/7
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